y=aX.+bx+C

y =
a= 10,475.881 b= 0.563 C= -42234.867
Xz = Xz =

y =
a-= 7.334 b= 45.308 c= -702.989
X1 = Xo =

y =
a-= 58.196 b= 0.4 c= -1280.744
Xz = Xo =

y =
a= 16.514 b= 6111.48 c= -11297.225
Xz = Xz = )

y =
a= 45.544 b = 60370.906 c=-212878.914
X1 = Xo =



13 13
45
x1 X2 x1 X2 x1 X2 x1 X2 x1 X2
3.912 6,571] 48.710f 21.948| 124.682 6,571 117.091 2.708 256.646 4.035
5.144 1,922 147.532| 31.181| 164.034 1,922 482.909 3.536] 3,414.600 3.200
5.644 355| 260.276] 25.223| 276.391 355| 528.609 3.858| 1,233.723 5.161
5.034 350] 129.471] 32.386| 184.773 350] 261.777 3.687] 1,468.242 3.752
4.295 0] 80.296] 23.068| 147.425 0] 80.426 3.179 207.849 3.818
4.591 0] 88.059] 28.549| 153.650 0] 125.271 3.416 530.007 3.648
2,446 649 8,604| 7,186| 42,406
12,735 1,792 9,034| 18,288]| 135,823
17,091 2,349| 14,946] 21,010| 154,884
10,698| 1,714 9,612| 15,559| 80,502
2,759 931 7,299 9,459| 27,083
5,860 1,236 7,661| 11,648| 31,493
3,103.3| 5,319.3 1,244| 2,499.8 472 59,725 61,616
12,734.8]45,479.1 13,305| 7,538.1 1,712 734,259 782,686
3,326.7[13,725.2 3,402| 1,977.8 404 244,070 237,301
8,119.8|27,543.7 6,745] 5,037.4 1,234 376,625 377,335
898.4| 1,758.7 447 855.2 258 22,455 20,304
2,643.2| 8,600.4 1,696 2,101.1 573 81,631 79,623




